. Conjugate Acid-Base Pairs l

ldentify the acid (A), base (B), conjugate acid (CA), and
conjugate base (CB) for each of the following.

(@) HCLO, (ag.) + H,O () == H,O(aq.) + ClO(aq.)

(®) H,SO (ag) + H,O () == H,O" (aqg.) + HSO (aq.)

() HC,H.O,(aq) + H,O (L = H 0" (aq.) + C,H O,(aq.)

@ H,S (g) + H,0 () = H_,O'(aq.) + HS (aq.)

(e) HSO,(aq) + H,O (L == H,O(aq.) + SO *(aq.)

M) NH, (g) + H,O () == NH‘(aqg.) + OH(aq.)

(9 HF (agq) + HSO (ag)<== F~ (aq.) + H,50 (aq.)

(h) HNO (ag.) + HS(ag.) = NO,(aq.) + H.,S (aq.)

(D) HPO,* (ag.) + H,O0 (U = OH(aq.) + H,PO,* (aq))

(1 C,0,2(aq) + HC,0,0,(aq.) = HC,0,(aqg.) + C,H O, (aq.)



. Conjugate Acid-Base Pairs l

Answers

A B CA cB
(@) HCLO, (ag.) + H,O () == H,O(aq.) + ClO(aq.)

A B CA B
(®) H,SO (ag) + H,O () == H,O" (ag.) + HSO (aq.)

A B CA CB
(0 HC,H.O,(aq) + H,O (L = H 0" (aq.) + C,H O (aq.)

A B CA CB
@ H,S (@) + H,0 () = H_,0'(aq.) + HS(aq.)

A B CA CB
(e) HSO,(aq) + H,O (L == H,O(aq.) + SO *(aq.)

B A CA B
M) NH, (g) + H,O () == NH‘(aqg.) + OH(aq.)

A B CB CA
(9 HF (ag) + HSO (ag)<== F~ (aq.) + H,50 (aq.)

A B e CA
(h) HNO (ag.) + HS(ag.) = NO,(aq.) + H.,S (aq.)

A B CB CA
(D HPO,* (ag.) + H,O0 (U= OH(aq.) + H,PO,* (aq))

A B CA CB
(1 C,0,2(aq) + HC,0,0,(aq.) = HC,0,(aq.) + C,H O, (aq.)



